	
Lesson 3 Homework
	
LT 5.2
	
3-11, 15, 16, 33 (a & b only)




[bookmark: _GoBack][image: ]

[image: ]

[image: ]






	
Lesson 3 Homework
	
LT 5.2
	
3-11, 15, 16, 33 (a & b only)



[image: ]

[image: ]

[image: ]
image1.png
6.5 EXERCISES Oy O o ey o
R ::YAMDIRDZII:DIS;:RKI’KE

SKILL PRACTICE





image2.png
EXAMPLES | SSSSIMILARITY THEOREM Verify that A ABC ~ ADEF.
of AABCto ADEF.

ind the scale factor

4. AABC:AB=10,BC=16,CA =20
50
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5. SSS SIMILARITY THEOREM Is either AJKL or ARST simil
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6. 555 SIMILARITY THEOREM Is cither AJKL or ARST similar to AABC?
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SAS SIMILARITY THEOREM Determine whether the two triangles are
similar. If they are similar, write a similarity statement and find the scale
factor of Triangle B to Triangle A.
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9. @) ALGEBRA Find the value of n that makes APQR ~ AXYZ when PQ = 4,
QR=5,XY=4(n+1),¥Z=7n—1,and £Q = £¥. Include a sketch.

SHOWING SIMILARITY Show that the triangles are similar and write a

onp. 391 similarity statement. Explain your reasoning.
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DRAWING TRIANGLES Sketch the triangles using the given description.
Explain whether the two triangles can be similar.

15. In AXYZ, mZX = 66°and m£Y = 34°. In ALMN, m£M = 34° and
mZN =80,

16. In ARST, RS = 20, S|
HF = 48, and mZH

32,and m£S = 16°. In AFGH, GH = 30,
247,
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EXAMPLE4 | 33. MULTI-STEP PROBLEM Ruby is standing in
fonp 391 her back yard and she decides to estimate
fforEx 33 the height of a tree. She stands so that the tip
of her shadow coincides with the tip of the
tree’s shadow, as shown. Ruby is 66 inches
tall. The distance from the tree to Ruby is 95
feet and the distance between the tip of the
shadows and Ruby is 7 feet.

. What postulate or theorem can you use to show that the triangles in the
diagram are similar?

About how tall is the tree, o the nearest foot?





